
14

69

8ø6.3 c/10

C=97

1
4

8
4

8
ø

6
.
3

 
c
/
8

C
=

1
1

2

14

1
4

0

S08

- 1,50 m

Barra LA

8Ø6.3 c/8 cm

- 1,50 m

Arranque do pilar

Aço CA50 Ø 10 mm

0.20

0.45

0.95

0.75

Vista em planta

Corte A Corte B

A

B

0

Arranque do pilar

Aço CA50 Ø 10 mm

Barra LB

8Ø6.3 c/11 cm

0.20

0.45

14

84

8ø6.3 c/13

C=112

1
4

1
0

4

8
ø

6
.
3

 
c
/
1

0

C
=

1
3

2

14

1
4

0

S09 e S14

- 1,50 m

Barra LA

8Ø6.3 c/10 cm

- 1,50 m

Arranque do pilar

Aço CA50 Ø 10 mm

0.20

0.45

1.10

0.90

Vista em planta

Corte A
Corte B

A

B

0

Arranque do pilar

Aço CA50 Ø 10 mm

Barra LB

8Ø6.3 c/13 cm

0.20

0.45

0

14

74

8ø6.3 c/10

C=102

1
4

8
4

8
ø

6
.
3

 
c
/
9

C
=

1
1

2

14

1
4

0

S10

- 1,50 m

Arranque do pilar

Aço CA50 Ø 10 mm

Barra LB

8Ø6.3 c/10 cm

Barra LA

8Ø6.3 c/9 cm

- 1,50 m

Arranque do pilar

Aço CA50 Ø 10 mm

0.20

0.45

0.20

0.45

0.90

0.80

Vista em planta

Corte A
Corte B

A

B

0

14

79

8ø6.3 c/11

C=107

1
4

9
4

8
ø

6
.
3

 
c
/
9

C
=

1
2

2

14

1
4

0

S11

- 1,50 m

Arranque do pilar

Aço CA50 Ø 10 mm

Barra LB

8Ø6.3 c/11 cm

Barra LA

8Ø6.3 c/9 cm

- 1,50 m

Arranque do pilar

Aço CA50 Ø 10 mm

0.20

0.45

0.20

0.45

1.00

0.85

Vista em planta
Corte A Corte B

A

B

Figura 26: Prancha 02/04 - Detalhamento de sapatas na escala 1:25
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